


QUARTER 
FENDERS  . . . . . . . . . . . . . Pg. 4
Bulk Packs . . . . . . . . . . . . . . . Pg. 4

SINGLE AXLE 
FENDERS . . . . . . . . . . . . . .  Pg. 6
Mounting Kits . . . . . . . . . . . . . Pg. 7

HALF TANDEM 
FENDERS . . . . . . . . . . . . .  Pg. 8
Mounting Kits . . . . . . . . . . . .  Pg. 9 

FULL TANDEM 
FENDERS   . . . . . . . . . . . . . Pg. 12
Mounting Kits . . . . . . . . . . . .  Pg. 13

MUD FLAP
HANGERS   . . . . . . . . . . . . Pg. 14
Bar Brackets  . . . . . . . . . . . .  Pg. 16

MISCELLANEOUS . . . . . Pg. 17

WARRANTY
& POLICIES  . . . . . . . . . . . Pg. 18

T A B L E  O F  C O N T E N T S

Fleetline Products

784 Bill Jones Industrial Drive

Springfield, TN 37172
FleetlineProducts.com

Call: 800.332.6653

Fax: 888.215.7036

2

A
 C

LE
A
R
 V

IE
W

 O
F TH

E
 R

O
A
D
 A

H
E
A
D

First fit.
Same OE quality products used when the truck was built. 



FleetlineProducts.com

800.332.6653
3

Fleetline is the Spray Suppression Leader

 in the USA supplying fenders and hanger

brackets to the trucking industry for the

past 40 years. We provide a full line of

products for trucks and trailers built

to serve multiple vocations. Our

product line includes fenders for

single axle, half tandem and

full tandem applications

as well as mud flap

hanger brackets.

SWIVEL MOUNT
Part #:  FL-360              See pg.17

u	Universal — left or right

u	360 degree swivel mount

N E W  P R O D U C T S

BULK single fenders 

u	Unassembled single quarter fender
 (available in poly or stainless steel) 

u	Shrink wrapped in heavy mil polyefin
u	Can be assembled as left-hand  
  or right-hand 

u	Top flap, clamp & hardware included
 

Order in multiples of 10

POINT OF PURCHASE

DISPLAY 
Part #:  POP-2
u	Double-sided display

u	Dimension 72" x 38" x 24"

Includes quarter fenders

and hanger brackets

* Contact Fleetline for information on how you can 

  obtain a display for your showroom.

Front

side

Back

side

1900-BULK
See pg.4

1585B-BULK
See pg.4



Q U A R T E R  F E N D E R S

POLY 
Part #:  1900-KIT
u	Two polyethylene fenders
u	Two top flaps 
 with hardware

u	Two clamps
u	24" length

u	Weight: 19 lbs. (pair)

Corrosion and UV Resistant

Also available in bulk:

Part #:  1900-BULK  
Unassembled single quarter fender shrink 

wrapped in heavy mil polyefin. It can be 
assembled as left or right-hand. Top flap, 
clamp and hardware included. 

Order in multiples of 10

BRACELESS 
Part #:  1585B-KIT
u	Two 18 gauge 
 stainless steel fenders

u	Two top flaps 
 with hardware

u	Two clamps
u	22" length

u	Weight: 32 lbs. (pair)

Also available in bulk:

Part #:  1585B-BULK  
Unassembled single quarter fender shrink 

wrapped in heavy mil polyefin. It can be 
assembled as left or right-hand. Top flap, 
clamp and hardware included. 

Order in multiples of 10

4

40+ Years.  
Fleetline quarter fenders were introduced to the truck industry 
in 1973 and have been proving themselves ever since.

1900-BULK

1585B-BULK

Front View Bottom View

24"

24"

2" Flange

15"

Front View Bottom View

24"

22"

2" Flange

131 2/ "



FleetlineProducts.com

800.332.6653

Q
U

A
R

T
E
R

F
E
N

D
E
R

S

FULL BRACE 
Part #:  1585FB-KIT
u	Two 18 gauge 
 stainless steel fenders

u	Two top flaps 
 with hardware

u	Two clamps
u	22" length

u	Weight: 32 lbs. (pair)

LOW-MOUNT
HALF BRACE 
Part #:  1585LM-KIT
u	Two 18 gauge 
 stainless steel fenders

u	Two top flaps 
 with hardware

u	Two clamps 
u	22" length

u	Weight: 30 lbs. (pair)

Extended clearance low mount

Front View Bottom View

24"

22"

2" Flange

17"

HALF BRACE 
Part #:  1585HB-KIT
u	Two 18 gauge 
 stainless steel fenders

u	Two top flaps 
 with hardware

u	Two clamps
u	22" length

u	Weight: 30 lbs. (pair)

Front View Bottom View

24"

22"

2" Flange

131 2/ "

5

Front View Bottom View

24"

22"

2" Flange

131 2/ "



S I N G L E  A X L E  F E N D E R S

50"

3"
Flange

24"
Fender Width

Front view

Side view

24"

76"

6

Durability.
Our all-weather poly products are built to withstand the 
toughest road conditions. 

WIDE BASED TIRE

POLY
Part #:  5000-77
u	Two polyethylene 
 fenders

u	19" width

u	Weight: 19 lbs. (Pair)

u	Mounting options:
 4005 or 4055

POLY
Part #:  5005-76
u	Two polyethylene 
 fenders

u	24" width

u	Weight: 21 lbs. (pair)

u	Mounting options:
 4005 or 4055

50"

3"
Flange

19"
Fender Width

Front view

Side view

24"

75"



FleetlineProducts.com

800.332.6653

Part #: 4055
u		4 Painted tubes 

u		4 Post mounts

u		4 Clamps

u		4 End caps

u		8 Poly mounting brackets

Q
U
A
R
TER

 &
 S

IN
G
LE

A
X

L
E
 F

E
N

D
E
R

S

7

M O U N T I N G  K I T S

Part #: 4005
u		4 Painted tubes 

u		4 Post mounts

u		4 Clamps

u		4 End caps

u		1 Hardware kit with U-bolts



H A L F  T A N D E M  F E N D E R S

POLY
Part #:  5325-66
u	Two polyethylene fenders
u	26" width

u	Weight: 26 lbs. (Pair)

u	Mounting options:
 4235-X or 4255-X

WIDE BASED TIRE

POLY 
Part #:  5020-66
u	Two polyethylene 
 fenders

u	19" width

u	Weight: 23 lbs. (Pair) 

u	Mounting options:
 4255 w/ 1650-7 & 1650-8

53"

3"
Flange

26"
Fender Width

Front viewSide view

24"

27"
39"

8

Durability.
Our all-weather poly tandems are built to withstand the 
toughest road conditions with a lifetime warranty.

53"

3"
Flange

19"
Fender Width

Front view

Side view

24"

27"
39"



FleetlineProducts.com

800.332.6653

H
A

L
F
 T

A
N

D
E
M

F
E
N

D
E
R

S

9

Part #: 4235-X
u	2 Painted tubes

u	2 Post mounts

u	2 Clamps

u	2 End caps

u	2 Rear mounts

u	1 Hardware kit with U-bolts

M O U N T I N G  K I T S

Part #: 4255-X
u	2 Painted tubes

u	2 Post mounts

u	2 Clamps

u	2 End caps

u	2 Rear mounts

u	4 Poly mounting brackets



1 0

Why settle for second rate 
when you can have first fit...

Quality. 
Every Fleetline product is manufactured with top quality 
materials and must pass a quality inspection prior to shipping.

OE quality products 
every time.



1 1

"QUOTE OR HEADLINE FROM CAN GO RIGHT 
HERE ON TWO LINES IF NEEDED."
— John Doe, President, Fleetline Truck Products

Shown:

1585B-KITS Braceless Quarter Fender

FIND US ONLINE

facebook.com/FleetlineFenders u	

twitter.com/FleetlineFender u	

linkedin.com/company/Fleetline u

plus.google.com/+Fleetlineproducts u

FleetlineProducts.com

800.332.6653



F U L L  T A N D E M  F E N D E R S

POLY
Part #:  5345-131
u	Two polyethylene fenders
u	26" width

u	Weight: 54 lbs. 
 (Pair)

u	Mounting options:
 4435-X or 4455-X

WIDE BASED TIRE

POLY
Part #:  5040-131
u	Two polyethylene fenders
u	19" width

u	Weight: 51 lbs.
 (Pair)

u	Mounting options:
 4455 w/ 1650-7 & 1650-8

POLY ROLL-OFF
Part #:  7125  — Single fender

u		One polyethylene fender
 (2 pieces)

u	25" width

u		Weight: 24 lbs. 

TRI-AXLE EXTENDER 
Part #:  7225-1
u	One polyethylene 
 extender

u	25" width

u		Weight: 9 lbs. 

55"

106"
3"

Flange

26"
Fender Width

Front view

Side view

24"

38"

38"

1 2

105"

46"

NOTE: 

Two pieces 

connect to form

a full tandem

"Fleetline is the best blend of quality and value." 
  — Will Goemaat, Parts Manager  /  Quad City Peterbilt

Parts shown:

7125 & 7225-1

55"

106"
3"

Flange

19"
Fender Width

Front view

Side view

24"

38"

38"



FleetlineProducts.com

800.332.6653

F
U

L
L
 T

A
N

D
E
M

F
E
N

D
E
R

S

1 3

Part #: 4435-X
u	4 Painted tubes

u	4 Clamps

u	4 Post mounts

u	4 End caps

u	2 Center brackets

u	1 Hardware kit with U-bolts

M O U N T I N G  K I T S

Part #: 4455-X
u	4 Painted tubes

u	4 Clamps

u	4 Post mounts

u	4 End caps

u	2 Center brackets

u	8 Poly mounting brackets



M U D  F L A P  H A N G E R  B R A C K E T S

STRAIGHT
Part #:  FF30SS-KIT
u	30" stainless steel hanger brackets (pair)

u	2-1/2" bolt spacing

Part #:  FF30P-KIT
u	30" painted hanger brackets (pair)

u	2-1/2" bolt spacing

Part #:  FF30SSCX-KIT
u	30" stainless steel hanger brackets (pair)

u	2-1/2" bolt spacing

Part #:  BF30PCX-KIT (30")

    BF31PCX-KIT (31-1/2")

u	Painted hanger brackets (pair)

u	1-1/8" bolt spacing

Part #:  BF30SSCX-KIT (30")

    BF31SSCX-KIT (31")

u	Stainless steel hanger brackets (pair)

u	1-1/8" bolt spacing

Part #:  BF28P-KIT
u	28" painted hanger brackets (pair)

u	1-1/8" bolt spacing

Part #:  BF28SS-KIT
u	28" stainless steel hanger brackets (pair)

u	1-1/8" bolt spacing

Satisfaction.
Rigourous design and testing are completed up front so we can 
ensure you'll be satisfied with the longevity of our products.

1 4



FleetlineProducts.com

800.332.6653

ANGLED / 45o 
Part #:  SF3045P-KIT
u	27" paintedl hanger brackets (pair)

u	1-1/8" bolt spacing 

Part #:  SF3045SS-KIT
u	27" stainless steel hanger brackets (pair)

u	1-1/8" bolt spacing

 

Part #:  SF3045SSCX-KIT
u	27" stainless steel hanger brackets (pair)

u	1-1/8" bolt spacing

 

Part #:  SF3345SSCX-KIT (30")

   SF3145SSCX-KIT (31-1/2")

u	Stainless steel hanger brackets (pair)

u	1-1/8" bolt spacing

 
 
Part #:  SF3045PCX-KIT (27")      
u	Painted hanger brackets (pair)

u	1-1/8" bolt spacing

 

Part #:  SF3345PCX-KIT (30")

   SF3145PCX-KIT (30-1/2")

u	Painted hanger brackets (pair)

u	1-1/8" bolt spacing

H
A

N
G

E
R

S

1 5



B A R  B R A C K E T S

BAR

BRACKETS
Part #:  BB2300
u	Two coiled spring hangers

Part #:  BB2500
u	Two spring hangers

Part #:  BB3300
u	Two angled coiled spring hangers

Part #:  BB3500
u	Two angled spring hangers

1 6

Outstanding Service.
We have a long history servicing OE Plants, OES Dealers, as well 
as owners of the rig.  We understand your stringent demands!



FleetlineProducts.com

800.332.6653

CONSPICUITY

PLATES 
Part #:  RS3000
u		Fits FF30 Series

Part #:  RS3700

u		Fits SF3045 & SF3345 Series

POST

MOUNT  
Part #:  1600-15M
u		8” Post mount for use with 5/8” bolt

CENTER

MOUNTS 
Part #:  1650-1
u		Universal -— left hand

Part #:  1650-2
u		Universal -— right hand

u		Height 8-1/2" - 11 5/8"

u		No plate | Single hole

Part #:  1650-7
u		Wide base tire — left hand

Part #:  1650-8
u		Wide base tire — right hand

u		Height: 8 ½” x 11 5/8”

u		No plate | Single hole

SWIVEL MOUNT
Part #:  FL-360
u	Universal — left or right

u	360 degree swivel mount

H
A

N
G

E
R

S

1 7



Placing Orders
• For information on placing a new order, 

please contact Customer Service at  
800-332-6653 

Order Amount and Quantity
• Some items subject to minimum order or 

standard pallet quantities
• Packaging surcharge may be added to 

accepted orders inconsistent with the above 
requirements

• Minimum Order amount is $250. Order 
surcharge may be applied to orders for less 
than this amount

Freight Policy
• All orders are F.O.B. Fleetline Products, 

Springfield, TN 37172
• Customer is responsible for inspecting 
 all shipments upon arrival for 
 freight / transit damage
• Damage must be documented on the 

receiving BOL (Bill of Lading)
• Fleetline must be advised in writing of any 

damage within five days of receipt
• Any claim of damaged freight must be 

accompanied by supporting pictures and 
documentation, including a copy of the BOL

All products manufactured and sold by Fleetline 
Products Inc. are guaranteed to be free of 
defects in workmanship and materials for a 
period of one (1) year from date of installation. 
An extended Lifetime Warranty is available 
on all poly single axle, half and full tandem 
fenders.  All Fleetline products must be installed 
using only Fleetline supplied mounting kits and 
brackets. All tandem and half fenders must 
use a properly secured center bracket to avoid 
cracking. Any use of mounting hardware and 
brackets of another make to mount Fleetline 
products, or any modification of a Fleetline 
product, will render the Fleetline guarantee void. 
Fleetline assumes no responsibility for the cost 
of installation or removal. 

Exceptions to this limited warranty are as 
follows: cleaning with anything other than 
soap and water, damage and dents from road 
hazards are not covered, misuse or accidental 
impact damage is not covered, damage caused 
by corrosive materials is not covered. 

Any materials to be considered for warranty 
must be returned to Fleetline Products Inc. in 
Springfield, TN, freight prepaid, for inspection, 
with an approved Fleetline Returned Goods 
Authorization. This warranty is good only for the 
original end-user of Fleetline products.

Visit fleetlineproducts.com to view Fleetline 
Terms and Conditions for further clarification.

Stainless Steel Fender Care
and Maintenance
Fleetline strongly recommends washing your 
fenders with water only. If detergents are 
necessary, do not use anything stronger than 
a mild soap and water. When wiping and buffing 
your fenders we recommend using a soft, 
clean cloth making sure to wipe in the direction 
of the grain; do not buff in a circular fashion  
as this could cause damage to the surface.

L I M I T E D  W A R R A N T Y

1 8

Guaranteed.
All of our products are backed by a 1-year warranty with an 
extended lifetime warranty on all poly products.



FleetlineProducts.com

800.332.6653

Return Goods Policy
Please note that not all merchandise is eligible 
for return.  Obsolete and superseded parts are 
not eligible.  Customer specific (proprietary) 
parts may not be returned.  Special order 
products are not eligible for return.

An RMA request form must be completed and 
submitted to Fleetline before any consideration 
can be given for a return.  The RMA request form  
can be found online at www.fleetlineproducts.com 
or by contacting Customer Service at 
800.332.6653.  Once the RMA request form is 
received and approved by Fleetline, an RMA 
number will be provided.

The following applies to all return requests:
• All returns must be accompanied by an 
 approved RMA number

• All returns must be accompanied by a copy of 
 the original invoice

• Parts may only be returned by the original 
 purchaser

• Returns must be shipped freight prepaid

• Returned parts must have been purchased 
 within the previous six months

• Returned parts must be received in  
 “brand new” saleable condition, in their  
 original packaging

• Returned parts are subject to a  
 15% re-stocking fee

• Annual return amount is limited to 5% of 
 annual purchases 

Claims for Shortages
• When shipment is received, please check 

contents promptly
• All shortages must be reported within three (3) 

working days from date of shipment receipt

• When making a claim, please  
have the following information  
available before contacting Customer  
Service: Invoice number, Date of receipt, 
Carrier and PRO number

Claims for Damaged Merchandise
• Fleetline products are sold F.O.B. factory 

and leave our plant in excellent condition. 
It is required that the merchandise be 
inspected upon receipt for damages. 
Merchandise received damaged must be 
resolved between customer and carrier.

• If a shipment is damaged in transit, the 
driver must record the damage in writing 
and the carrier must be notified immediately 
to submit a claim. Keep the shipment intact 
as received so the carrier can inspect and 
confirm the damage.

About Fleetline
Fleetline is the Spray Suppression Leader in 
the USA. With a full line of products to fit all 
major manufacturers trucks and trailers, you 
can count on Fleetline for unparalleled quality 
and exceptional value. Fleetline is a Marmon 
Highway Technologies LLC (MHT) company. 
MHT companies support the transportation 
industry worldwide with a wide range of high-
quality products and services. MHT companies 
are members of Marmon Holdings, Inc., an 
International Association of more than 150 
business units that operate independently within 
diverse business sectors. Marmon Holdings, Inc. 
is a Berkshire 
Hathaway 
company. 

P
O

L
IC

IE
S

1 9

Shown:

1585B-KIT Braceless 

SS quarter fender



Fleetline Products
784 Bill Jones Industrial Drive  |  Springfield, TN 37172
Office: 800.332.6653   |   Fax: 888.215.7036

Specifications subject to change without notice.

©2017  FL2017A-7500-102417

No.1 in North America


